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2C
.
B is invertible if det B # O

.

det B = te - Iole -124 = ( le - 4) ( K - 6) to
,

so far k¥4 and k€6
.

3. a
. true let A and B be nxh

matrices
. Suppose that AB - I .

By the invertible matrix theorem , this
implies that A and B are invertible

.

It follows that (AB ) B-
'

= I B-
'

,
so

A- = B
"

. Therefore, BA = BB
"
- I = AB

.

3b
. true let T : IR

"

→ IR
"

be a linear

transformation .
let A be the standard

matrix of T . Suppose T is onto
.

By the invertible matrix theorem
,
this

implies that A is invertible
. Therefore,

the inverse transformation T
- '

exists

and has standard matrix A-
'

.
Since

A-
'

is invertible
,
T
"

is one - to - one
,

by the invertible matrix theorem
.



3C
. Fade the matrix - A is formed

by multiplying every row of A with
- 1

.

When one row of A is

multiplied by - 1
,

then the determinant

of A is multiplied by - 1
.

Since A

has 20 rows
,
Iet f- A) = C- 1)

"

det (A )
= Iet A

.


